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1) SMENAME X 20178 1900 HE Ol H==2E XXot@AsLIN? SH2 2HI01& Y LICH

2017'd 19CH CHM X|X|Z=E

g2 N2 2ol zzx orE4 CPL] yyy vese SO mes
M & AR 4
% % % % % % % %
A (1023)  (1000) 47.2 22.6 10.7 4.5 3.1 3.6 6.4 2.0
18404+ 20CH 167 175 42.0 23.7 9.1 7.8 3.9 1.5 11.9 -
30CH 164 152 57.7 11.3 11.8 8.0 4.5 1.6 4.8 0.3
o 40CH 194 185 64.7 17.2 9.1 2.6 2.6 1.6 1.2 0.9
50CH 198 195 49.9 19.2 10.7 4.1 1.9 5.1 6.6 2.5
60M| 0] At 300 293 32.0 33.4 12.0 2.0 3.0 6.3 7.0 4.3
" s 515 499 46.8 23.5 10.3 5.7 3.9 2.0 6.1 1.7
g
od 508 501 47.6 21.6 11.1 3.3 2.3 5.3 6.6 2.2
ME 192 189 41 1 23.5 141 4.7 4.6 2.7 6.8 2.6
Aa71/00H 317 314 50.8 19.5 8.4 5.6 3.2 4.7 SRY 1.9
CHH/=H-H/ME 107 107 50.9 16.2 9.0 3.6 5.3 7.2 6.8 0.9
x| Z2l/NFE 47 43 50.2 14.9 14.1 4.6 4.5 - 7.7 4.1
BAYS A7 157 151 40.9 34.9 9.5 3.9 1.2 1.3 6.3 1.9
/48 110 98 32.6 38.3 12.9 3.0 - 4.5 6.2 2.4
Heb/AdF/Hg 93 98 66.8 6.0 11.0 3.5 3.1 2.6 6.1 1.0
CE0| oIzt 278 272 82.1 4.4 3.5 2.0 2.8 1.1 3.3 0.7
=al9o| &l 400 391 25.5 38.0 14.6 6.3 1.2 4.4 6.9 3.1
Mot 47 48 52.6 12.3 2.0 10.0 16.3 = 6.7 =
X|%| =alo| =t 82 79 21.9 38.3 18.6 - 1.3 10.1 6.3 3.5
mch gl alxch 57 58 72.1 8.6 10.8 1.6 1.8 5.2 = =
7|Epd gt 24 24 66.9 16.3 16.4 - 8.2 3.3 - -
XX ™Met gle 121 119 41.9 17.1 10.5 7.4 4.9 1.6 15.7 0.9
32oE 14 13 34.1 - 15.9 - 7.9 21.3 6.0 14.9
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2) 18 HdMENAE=E UsS 228 5 =72 2001l HSZ2=2 XXotaLb? sE2 ZHI01E S LICH

ZA V5 C{2ojol=ct 20|03l mo|ct ;?nb;ol_p:l- zl_¢__+_
gz mg MR Gmam BAY 3WMR 243 sms= wmsmgs  wes
AI'E:“'JI\' AI_Eﬂ_Jlg_ o [ [=N=2=] —-=2T [= =iy

% % % % % % % %
| (1023)  (1000) 33.3 47.7 4.7 3.7 18 1.4 6.5 1.0
184[0] A 20CH 167 175 18.0 39.0 12.3 4.4 3.9 4.9 16.4 1.0
30CH 164 152 31.4 41.6 5.9 5.6 12 13 12.2 0.7
o 40cH 194 185 53.3 37.5 3.1 2.0 - 0.5 3.0 0.5
50C} 198 195 40.8 45.1 2.4 5.6 2.0 1.0 3.0 -
60M|O| At 300 293 05.7 64.2 2.0 2.0 17 0.3 2.0 2.0
» LA 515 499 37.9 46.4 25 3.2 17 18 6.0 0.4
S oAl 508 501 28.7 49.0 6.8 4.1 18 14 6.9 16
M 192 189 31.7 47 1 6.2 4.7 2.6 _ 6.7 1.0
27|/91H 317 314 34.8 48.1 4.7 3.0 13 2.0 5.4 0.6

O /S 8/ M S 107 107 31.4 46.2 6.5 3.7 0.8 27 8.8 -

x| Zhl /R 47 43 40.3 43.5 8.9 4.1 - _ 3.2 -
HAS AL 157 151 30.2 53.1 1.9 0.7 25 1.2 6.3 21
o7/ e 110 98 175 65.0 2.2 2.9 2.0 16 74 18
LR e 93 98 51.2 25.1 45 6.1 2.0 21 8.0 1.0
279l 483 472 54.0 28.2 5.6 18 1.4 0.8 7.7 0.4
s=5 233 206 10.5 77.2 0.9 2.2 2.1 16 4.1 13
orE 4 110 107 14.6 61.3 4.4 12.9 2.1 0.9 2.0 18

20174 CfM o=n| 44 45 16.7 53.6 10.7 10.5 - 2.0 6.4 -
LT AL AR 31 31 46.6 21.9 25.3 _ _ 3.2 3.0 _
J|EtS B 37 36 21.8 65.6 _ - _ 74 2.7 2.7
MAoj| Ato]s}x| e 64 64 10.7 51.4 15 7.9 6.2 2.0 19.1 1.2

noE o1 20 9.8 85.1 - _ - _ _ 5.1
Cjof oIzt 078 272 83.4 5.2 2.9 0.7 1.4 0.4 5.6 0.4
2njo| & 400 391 3.8 87.8 1.0 2.7 - 0.8 3.0 0.8

Fo|ct 47 48 35.0 14.3 34.1 5.7 41 2.1 4.6 -

2olo| gt 82 79 8.8 72.9 _ 14.9 2.4 11 - _
XX o3| oj=ct 57 55 79.1 8.5 3.0 _ 4.0 18 1.9 18
A o2l oj=cf . . . . . . .
So 7|EPETH 24 24 17.4 21 .1 21.6 8.8 - 19.6 75 41
X|X| MT ol 121 119 12.6 36.5 8.2 6.6 6.5 0.8 27.1 16

2OE 14 13 39.0 14.8 15.0 - - 13.8 3.6 13.7



3) D&, MMUNANE SME XIXEED A0l XD HSZE 22 £t i
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as =X cizojuzg 29103
NEET o i
% %
A (1023) (1000) 37.6 52.2
18| o] 4 20cCH 167 175 31.3 50.1
30t 164 152 39.0 46.3
o 40cH 194 185 53.4 42.0
50CH 198 195 41.7 48.7
60A| o] & 300 293 28.0 65.3
o =248 515 499 41.8 49.7
c ol 508 501 33.5 54.6
ME 192 189 33.7 51.3
a71/948 317 314 39.8 51.3
/S H/MS 107 107 38.2 54.0
| ZH/AF 47 43 44.5 46.9
BA/gM/AE 157 151 31.3 60.9
/4% 110 98 21.4 68.8
HE/23F/HE 93 98 60.8 27.0
2ol 483 472 56.2 32.8
E=H 233 226 14.5 77.2
e ES 110 107 21.0 69.5
331;;'3 .i" U 44 45 35.1 60.7
- IE = A4 31 31 53.4 24.9
J|EtE R 37 36 34.4 60.6
MAHof| xtoiS}X| &2 64 64 15.8 72.2
Hns 21 20 5.0 80.3
o 2o{oiZct o] X 344 333 91.7 4.8
ZoolE eME 490 477 3.5 93.0
A Mook MM 44 47 30.6 226
;|7:| 2ojojct obx A 38 37 20.8 4.4
e Fa4 S 18 18 31.8 33.1
J|ElE R 15 14 26.7 35.3
XXERGS 64 65 29.3 34.6
o= 10 10 40.6 31.7
ClE0f alxgt 278 272 82.9 9.7
=ajo| 3l 400 391 6.9 88.6
Holgt 47 48 45.7 23.1
X% Sajo| ¢t 82 79 9.9 79.2
Mot gl o 57 55 83.2 9.7
7|Epd gt 24 24 37.7 42.2
X|X| Mck gle 121 119 28.2 48.9
ZRE 14 13 46.8 14.8
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19.1
1.2
3.0
41
2.5

27.0

2.6
9.5
0.7
1.8
1.8
6.2
1.8
4.0
4.8

Aot LY

12.7
3.9
1.3
0.2
2.1

2.4

0.8
7.2

J|Et 38

%
0.8
2.0

0.5
2.0

1.0
0.7
0.5
0.9
1.7

0.6
0.8
1.0
0.4
1.2

6.2
5.0

0.3
0.2

38.0
1.4

XX EH

%
2.8
5.6
5), 7/
0.5
2.1
1.7
1.6
4.0
4.2
2.8
1.7

2.6
1.6
4.5
3.4
2.8

3.0
7.7

0.9
0.6
5.0
8.0
5.5

25.1

2.4
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4) 08 SdMUNAMeE COS HEEES & M S20| JHX 2= =
ZAL Vs %
otz Hg rAE=0 o|xHH
AL AL
Atg| 5= At = = %
A (1023) (1000) 2.0 473
18| o4 20cH 167 175 0.6 50.2
30CH 164 152 1.8 482
ol 4oty 194 185 2.1 36.7
50CH 198 195 1.0 452
60A] Of A 300 293 3.6 534
X =2 515 499 2.5 455
° o 508 501 15 492
ME 192 189 1.5 477
a71/2H 317 314 1.2 46.5
CHE/SH/MS 107 107 1.8 484
X Z/HF 47 43 3.6 40.9
BAygr/AY 157 151 3.8 52.4
/45 110 98 0.9 63.4
He/EF/HE 93 98 3.1 27.2
G S0l o7 H 344 333 1.4 2.6
T 0ol8l 2ME 490 477 2.4 81.6
X|X| ol dYd 44 47 2.0 32,6
St= = 210|%h ot- 38 37 2.6 47.0
7| i s 2ok 4sd 18 18 - 33.0
g J|EtE 15 14 ; 60.3
XX =2GS 64 65 3.1 41.1
HOE 10 10 - 21.8
HEo{2Fg oz H 387 376 2.0 43
=20/ 2MH 535 522 2.0 79.5
SEM7bS A go|g HYd 23 24 - 454
of=2= =210t ot- 23 22 8.4 52.2
=2 245 459 7 9 - 22.2
7|EtZ R 9 8 - 34.0
XX =2 28 28 5 44.0
HgE 11 11 - 27.9
=0 asg 278 272 1.7 8.6
19| % 400 391 1.9 77.2
Heojgh 47 48 2.0 18.9
x| =alo| o 82 79 3.6 73.1
Hct =R ESE 57 55 - 15.0
7|Epd S 24 24 8.5 43.8
XX "t S 121 119 1.7 514
Qe 14 13 = 14.8

26.3
11.2
35

43
6.2
10.2
13
4.2
42
5.0

404
51.5
39.7
27.0
39.3
36.5
33.6
404
38.1
42.6
334
20.0
60.6
86.6
2.5
59.2
36.9
43.0
14.3
36.7
40.6
84.5
43
46.4
352
51.5
23.0
385
18.6
80.3
7.1
56.5
9.9
77.3
39.4
325
57.6

7|Et

%
14
14

2.1
15
1.7
0.8
2.0
1.1
1.5
24

1.2
3.0

1.1
1.4

5.8
5.9
1.5
9.9
1.0
14

10.3
33
9.1
1.0
1.1
42
4.8

4.1

12.5
54
27.8
15
1.8
4.0
42

21.6
7.1
35.0
2.2
1.7
2.0

1.8

53
27.6



) SMEHNME CHE 4 2019 & SHO| (=8 &3
= 7} (=] s C}ol
At = At =

% %
HA| (1023) (1000) 275 429
18| 0] 4 20CH 167 175 29.6 36.7
30CH 164 152 29.8 40.3
ol 40cH 194 185 40.5 27.6
50CH 198 195 29.1 40.7
60M] Of A 300 293 15.7 59.2
e L 515 499 314 403
° oM 508 501 236 455
ME 192 189 25.4 44.6
AI1/0H 317 314 28.3 436
CHE/SE/MB 107 107 31.4 40.2
g Z/HF 47 43 26.8 445
By 4i/dE 157 151 26.4 47.7
/45 110 98 26.2 524
H/EF/H5E 93 98 28.1 22.6
2719 483 472 384 25.1
E=E 233 226 13.8 69.1
- =B 110 107 18.1 58.2
S g5 44 45 212 519
XK S8 Ay 31 31 46.9 283
I|EtZ R 37 36 15.6 52.2
MAHO| FHojstx| %S 64 64 17.0 455
HoE 21 20 13.7 64.2
ClE0o{nlxg ofzfH 344 333 48.8 5.5
ZololE eME 490 477 10.9 785
|| HMolch AAbY 44 47 423 9.8
;t,tl Zolo|gh ok 4 38 37 29.0 334
HE Fa£USH 18 18 213 29.1
7|Et= 15 14 31.8 6.9
XXzl 64 65 33.1 12.7
HaE 10 10 - 52.0
G20 2l 278 272 452 6.6
=2l9| 3 400 391 10.6 75.2
ol 47 48 29.7 27.8
x| x| =0olo| o 82 79 13.6 67.9
Mo gl g 57 55 54.7 11.1
7|EpE 24 24 33.1 21.1
XX et oS 121 119 35.8 319
2 aE 14 13 413 7.7

15.9
14.0
3.0
74
2.2
34
53
4.4
9.8
22.5
0.8
83
8.0
5.7
74
2.9

22.2
1.8
123
24
13.7
12.6
1.6
16.3

111
2.8
13
3.6
5.6
6.4
2.7
5.9

2.2
0.7
19.9
8.1

9.0

6.4

9.9

4.0

1.8
11.3
2.5

3.6

8.3

10.8

4.9
1.8

10.9
26.8

4.6

3.6

15

6.2

3.8
10.3
45

7.2

7|Et

%
6.8
4.6
89

12.3
6.5
3.6
6.0
7.5
6.8
7.7
39

10.7
55
5.7
8.2
8.4
4.6
2.7
6.2

12.1

13.6
4.9

9.8
4.1
84
24
5.7
18.6
10.4

10.2
3.9
2.1
7.3
34

124

11.2

228

%
7.3
15.3
6.0
6.2
5.1
53
6.3
8.3
6.7
6.5
8.9
3.9
7.5
9.8
8.0
74
6.1
6.4
8.7
3.0
7.8
114
124
6.3
3.1
11.3
8.2
11.3
26.4
29.9
38.2
8.1
53
10.7
2.6
33
8.0
12.3
34.7



6) & Hoz BHE HYst [A #H 2= {oH EAAZH 2301
=AM e &
etg =g 0 2 *Hdstct
Al = Al =
%
A (1023 (1000) 11.4
18A| 0|4 20CH 167 175 9.8
30cH 164 152 14.5
ol 40ty 194 185 13.2
50CH 198 195 12.0
60| O] & 300 293 9.2
» = 515 499 13.2
ofd 508 501 9.7
ME 192 189 11.9
3o1/0H 317 314 12.7
HE/S8/M3 107 107 11.0
X4 ZE/H = 47 43 24.3
2i/E24/A4E 157 151 10.7
o+/3d5 110 98 4.9
He/2F/3E 93 98 8.8
HEo{ =g o]z H 344 333 16.5
TR ME 490 477 8.7
x| x| Hojgh MAH 44 47 20.4
g{; 2ok obEA 38 37 5.5
e Fa% YEA 18 18 5.5
7|Et2 & 15 14 =
x| =SS 64 65 7.8
Qs 10 10 -
HE0f oIS 278 272 16.6
=39l 3 400 391 9.5
ol 47 48 16.7
x| = 0lo| ¢t 82 79 4.9
xch gl Qg 57 55 13.5
I|EPEE 24 24 16.5
XX 8 = 121 119 7.4
2RE 14 13 =

Sthot= 20l toto O

15

=

A

AH2F oY LI E?

21.8
28.0
32.0
25.6
21.7
10.3
24.4
19.1
23.7
22.5
22.5
25.9
21.1
171
18.6
17.2
22.6
17.5
28.7
26.8
52.9
30.0
211
14.4
22.7
24 1
17.0
22.0
23.8
37.5
20.9

19.7
8.7
12.4
12.7
8.9
6.9
8.8
12.4
14.3
10.1
9.1
12.5
7.0

12.9
7.1
5.9

58.9

10.0

12.5
4.7

16.3
9.5

4.2
36.2
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x = 7}
da ‘e sAsHdmgan  O9E osw 2 sook et £2g vzt |t = mg
Al = Al = o=

% % % % % %

HH| (1023) (1000) 47.6 23.6 13.6 7.6 3.6 4.0

18A| 0|4 20CH 167 175 61.5 9.1 10.6 5.3 3.3 10.1

30LH 164 152 58.8 18.2 9.6 8.3 3.4 1.8

AH 40t} 194 185 44 .4 16.2 19.1 11.9 4.7 3.6
50cCH 198 195 44.5 27.8 15.7 6.5 2.5 3.1

604 Of & 300 293 37.4 37.0 12.7 6.6 4.0 2.3

» = 515 499 49.7 19.4 15.6 9.8 2.5 3.0
© ofd 508 501 45.4 27.8 11.6 5.5 4.7 5.0
ME 192 189 53.7 21.5 12.4 7.8 2.1 2.5

2721/4#H 317 314 47 4 23.6 13.7 6.7 3.8 4.8

/3 H/MB 107 107 451 22.5 8.2 15.5 5.5 3.2

L] ZA/HF 47 43 52.5 18.3 14.6 10.1 - 4.5
2/ /ae 157 151 39.6 27.8 19.5 5.5 3.8 3.8

/45 110 98 39.9 36.4 9.0 5.7 3.8 5.2

/g8 93 98 56.5 11.9 16.5 5.9 5.2 41

C=0{2Ux=g o|xiE 344 333 41.2 2.3 30.0 15.9 5.9 4.5

Tl M 490 477 43.5 44.4 4.8 3.3 1.8 2.2

X|x| ol MuH 44 47 75.4 2.8 11.9 5.5 - 4.5
?tl?EI Fololgk obE S 38 37 55.9 23.5 5.0 7.9 2.7 5.0
WL Fa% Z43sd 18 18 53.9 21.9 1.2 - 7.4 5.6
7|EtzH 15 14 62.6 5.4 - 5.9 6.6 19.4

NP IR 8 64 65 79.1 3.0 4.6 1.6 5.6 6.1
H2DE 10 10 52.3 - 9.9 - 10.1 27.8

HE0 g 278 272 43.7 3.5 29.6 14.4 3.9 4.8

0ol 8 400 391 47.0 411 41 2.6 2.1 3.2

Ho|gt 47 48 58.7 13.8 12.0 7.7 6.2 1.6

X|X| =2l g 82 79 38.0 48.0 6.2 6.2 0.6 1.1
mch @ UuxEG 57 55 39.3 6.8 27.8 22.0 4.1 -
7|EPES 24 24 44.8 21.5 12.9 4.5 16.4 -

XX det gls 121 119 66.8 9.8 6.5 4.5 4.8 7.7

|
2 nE 14 13 25.8 7.7 22.2 - 16.8 27.6
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HME CtEs 89

o=

A

18M| o] 20CH
30cH
40ch
50CH
60| O] &

o

ARt
AbE =

(1023)

167

164

194

198

300

515

508

192

317

107

47

157

110

93

]
e

10
At =

(1000)

175

152

185

195

293

499

501

189

314

107

43

151

98

98

C{£0f
HE

%

27.2

18.7

22.7

43.1

322

211

30.2

24.2

25.5

29.4

22.6

27.3

25.5

13.2

447

39.1

36.2

37.0

30.1

36.0

49.6

36.0

42.0

36.2

37.9

47.5

42.5

40.0

57.8

17.6

= XX|SHHL 77 2 F2 2|0 YLICE.

4.8

7.6

4.9

3.7

55

34

4.7

5.0

5.2

5.1

2.7

8.4

2.0

3.7

9.7

7.9

7.0

6.2

5.0

8.7

10.7

6.1

9.7

7.2

2.7

2.0

10.5

11.3

5.0

4.8

4.6

5.7

5.0

6.6

6.9

4.1

4.6

5.3

9.6

5.8

2.4

3.8

9.9

7|E}

B
%
24
3.9
4.6
1.1
1.5
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